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m
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1 4&3
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(4.1)

(4.2)

(4.3)

(4.4)

(4.5)

(4.6)

(4.7)



(3,3,0)

OR 414



OR 414



2 -2

2 -5

2 -1

2 -3

2 -1

2 -6

20

OR 414



D,  : It, - 7c,  + a,, - 8,, > -c,,

D,: a,, 2 0 v(i,j) E A

D,  : 6,, 2 0

c, : ?I1 ?r, - 7q + a,, - 6,, 2 -cr, d-a f,, = 0

c, : $1 a,, 2 0 Id-d f,,  = ll,,

c, : 81 6,, > 0 ui% f,,  = l,,

OR 414



rniw c

a mnnil  0

P l'lh 0

6 UYOun410

a, ulnnil 0

PI l?ilfYlJ  0

6 u’ounil  0

a2 ulnnil 0

P2 1Yilfh  0

62 daunilo

f,,

1Th-h 4,

l,, I f,j  I Ulj

l’lfkl qj

UYotJnil  l,,

dwnii  1,

hJni1u,

uinnil  i,,

Irlnnil  uIj

uinnil ulj
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T,,  > 0

Cl, = 0

c,, < 0



_...............................

(~S,O)
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mn Ct, = C, + R, - 7c,

c,,  = 6,,+7c,-x,=1+1.2=0

El, = c,,+n;,-7c~=1+2-2=1

Ez3 = c,,+x,-a,=1+2-2=1

%l =c,+7C,-X,=1+2-4=-1

a34 = &+E,-T&=2+2-4=0

c4, = a,,+x~-7c,=0+4-1=3

6th66W  (1,2) Gil q2 = 0 66a-,  f,, = 2 $4 ljZ I f,, I U12 &~U6&.66bl  (1,2)  ii

Qnlu~6&.l  p

du19ou  (1,3) ihi? Cl, = 1 un: fi3  = 2. $4  fi3 > I,, ldU6~OU (1,3) sTIn1u~l~u a,

6dUthJ  (2,3) Hill,, = 1 66nz  fz3  = 1 39  fz3  = 4, dU6&IU (2,3) ifffIlUdh  Cc

6thdOU (2,4) &h & = -1 66i7t.i  fw  = 1 $9 fz4  = b 6&.66h.J  (2,4) iht-WdU 6

6i=h6h  (3,4) Gil E;, = 0 660: fs4  = 3 35 G4 I fy4  s l$G 6wI.dou (3,4)  &Kl1,,

6fh p

dU6h.l  (4,l) %I EdI = 3 66nt f41  = 3 $9 fal  = lel 6ih63OU (4,l) i=hfIlUd.h  a

6UdflWlthiJ6diJ6hJ  (1,3) ~nnlU=6~Uloln’-ood-~n6~oi  &%&Mi%ht

I-cud 6h6dU6&  (1,3) &ihnlU~6!h  Ct2  66iX  f,s =  2 ,  l,, =  1  &tWKlltJ~lU1U6dU

69WJib  1 HIhI  6&1#  f,, = l,, 66n=l~U69001ii:o=aC~~~U~nlu=tgw  Ct  &6dUo’U-

iGwlaQ  ijJdlNUA~lU1X~W  1 du  [q&l  klud  q3 = 1 Nlh
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01 (O,l,l) ,
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r
\

3

(3,3,0)

jrl 4.6 (n) hxh~u'lnalM (ll)Li&Jl~ul%BaJn~u  (4,l)
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cFlwanl~Qlnljw 1 Ill  3 bil#i  ihLl%l7L

A =  {l] “A  = {2,3,4]

B = IO, 3)) B=$

z1 = ?ilpflqB  [31= 3 z2 = 00
B



dkih (ij)  iJ,,

(1, 2) 2

(1, 3) !j

(2, 3) .l

(2. 4) 3

(3, 2) I

(3, 4) s

(4, 1) 0

OR 414

f,, OfIlU:

0 a

2 a2

0 a

2 a,

2 a*

0 a1

2 l-4

6dUAQoJ  (ij)  C,,  f,,6dUAQoJ  (ij) c,, f,, EfOlU:EfOlU:

(1, 2) 00 00 PP

(1, 3) 33 22 a*a*

(2, 3) 11 00 aa

(2, 4) 33 22 a2a2

(3, 2) 11 22 a2a2

(3, 4) 66 00 a,a,

(4, 1) 22 22 a,a,

(1, 2)

(1, 3)

(2, 3)

(2, 4)

(3, 2)

(3, 4)

(4, 1)
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6

2

fmu:

P

a,
a

a*

a*
a

a

%+N~l~hl?tN

dUl9OU  (ij) ‘;i, f, i=ffllW:

(1,  2) 0 2 P

(1,  3) 3 1 a*

(2,  3) 1 0 a

(2,4) 3 2 a2
(3,  2) 1 0 a

(394) 6 1 a

(4, 1) 2 3 a

8iJdOU  ( i j )  Z,, f,, now:

(1, 2) -3 2 6

(1,  3) 0 1 P

(2, 3) i 0 a

(2, 4) 3 2 a,

(3, 2) 1 0 a

(3,4) 6 1 a

(4, 1) 5 3 a

uamwh

dUdOU ( i j )  C

(1,  2)(1,  2) -2

=r

I -2

(19  3)(19  3) 00

(2,  3)(2,  3) 00

(2,  4)(2,  4) 22

(39  2)(39  2) 22

(3,  4)(3,  4) 66

(4,  1)(4,  1) 55

0

2 a*

0 a

1 a

3 a

1

3
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A = (1, 3) x=(2,4,5)

B = ((1, 2h (3,411 E=$

q = fi1d1qw  [l, l] = 1 z2 = 00
B

dUdflU  (i, j) F,dUdflU  (i, j) F, f,Jf,J tlfllU&tlfllU&

(1,  2)(1,  2) 11 22 a,a,

(1,  3)(1,  3) 00 11 PP

G4)G4) 00 22 PP

(2,  3) Q 1(2,  3) Q 1 PIPI

(2, 5)(2,  5) 00 11 PP

(3,4)(3,4) 11 22 a,a,

(3,5)  cl 0(3,5)  cl 0 PIPI

(4,  5)(4,  5) 00 44 PP

(5,  1)(5,  1) 11 55 aa
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(i, j)

(19 74

(1. 3)

(19  4)

(2, 3)

(2, 5)

(3, 4)

0, 5)

(4, 5)

(5, 1)

-

T
L

1

0

0

0

0

1

0

0

1
-

f
‘J

2

1

2

2

0

2

1

4

5

(1,  2)

(1, 3)

(1, 4)

(2, 3)

(2, 5)

(3, 4)

(39  5)

(4, 5)

(5. 1)
- -

T ?I f?l

0 2

0 1

- 1 2

1 2

0 0

0 2

- 1 1

0 4

2 5
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KWdOU  (i, j)

(1, 2)

(19  3)

(2,  3)

(2,  4)

(38  4)

(3,  5)

(3,  5)

(49  5)

(5,  1)

-
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1

0

0

2

3

0

0

1

2
-

f
?I

0

2

0

0

2

0

I

2

2

nfl1ut

;
P
a,
a

P

P
a,
a

dU&lU (i, j)

(19 2)

(1,  3)

(2,  3)

(2,  4)

(3,  4)

(3,  5)

(4,  5)

(5,  1)

-

-iF
L

1

2

2

4

3

0

1

0
-

f.
?I

0

2

0

0

2

0

2

2
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3. olda  2. tY118t~u1dou  (2, 1) 6~.I&~ufii  (G~,%~,  czl)  du (2,4,  0) ow~n~wufpq~

oln i ld 5 w~ooxl~~diu~crfi~l~~lf~

(mu  f,, = 1, fi4  = 1, fzl  = 2, f23  = 0, fM  = f,2 = 2, f*5  = fs3  = 1 dll&h  = 9 W+JU)

116 OR 414



pyqS6
9 f 9 9
(LLl)

GAO

\f

4

(O,Ll) (0,1>2) ~64~2)

5

(a6.u f,, = 2, f,, = 3, f,, = 1, f,, = 0, fz3 = 1 , fZd = 1 , fj6 = 4, f46 = 1 , f54 = 0, fSb = 0,

f,, = 6 dl%iltl = 1 1  k-Jtl)

OR 414 117



(4,590)

1Y’\(
@,LO) @,2,0)

I ~\
(1~2~3) ~2~2~3)

3

>

I

GAL4)

(El.w f,, = fy4  = 2, f,, = fi, = fz3  = f*4  = 1, f3*  = 0 un:  f41  = 4 fil%&h 11 mhJ)

7. al”silesludsnlglba~u~~iufi”a  (l,,  ll,,, CJ fhtwlIx 7r,  = 7c,  = ?r, = 7ra = 0, 7-c,  = 3

fllu~ludu~u~a f,, = 4, fz3 = 1 , fi3 = 3, fil = 2, f34 = 1 , fdl = 2, fs3 = 2 unt fT4 = 1

118 OR 414



1,428)

IC,  = ?C,  = 7c,  = 1, 7T,  = 4, R, = 6

n;, = 2 tW-&I.J++&fl f,, = 4, f,, = 2, fzl  = 6, fg2  = 3, f35 = 5, fd2 = 1 , fa6 = 6,

f52 = 2, fT4  = 5,  f,, = 2, fs3 = 4 osnlwnlnaerlwolI:~q~

OR 414 119
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